Global Journal of Mathematical Sciences: Theory and Practical. ISSN 0974-3200 Volume 5, Number 4 (2013), pp. 269-272 © International Research Publication House http://www.irphouse.com

Solution of First Order Linear Forward Difference Equation with Variable Coefficients

Sandeep Maurya

Kanpur, Uttar Pradesh, India Sandeepmaurya.maurya531@gmail.com

Abstract

In this paper, first order linear forward difference equation with variable coefficients be solved with the help of integrating factor.

AMS Subject Classifications: 39A06

Keywords: Integrating factor, general solution

1 Introduction:

A difference equation of the form $\Delta y(x) + P(x)y(x) = Q(x)\cdots(1)$, where P(x) and Q(x) are functions of x and contain step size h also, is called first order linear forward difference equation with variable coefficients.

Solution of above equation (1) is given by

$$y(x) = \frac{1}{u(x)} \Delta^{-1} \left\{ u(x+h)Q(x) \right\} + \frac{c}{u(x)}$$

where c is an arbitrary constant and u(x) is an integrating factor and is given by

$$u(x) = e^{\Delta^{-1}\log\left\{\frac{1}{1-P(x)}\right\}}.$$

Method and Proof:

From above equation (1)

$$\Delta y(x) + P(x)y(x) = Q(x)$$

Multiplying by u(x+h) on both sides, then

$$u(x+h)\Delta y(x) + u(x+h)P(x)y(x) = u(x+h)Q(x)$$

Take
$$u(x+h)P(x) = \Delta u(x) \cdots (2)$$
, then

$$u(x+h)\Delta y(x) + y(x)\Delta u(x) = u(x+h)Q(x)$$

We know that

$$\Delta\{\phi(x)\psi(x)\} = \phi(x+h)\Delta\psi(x) + \psi(x)\Delta\phi(x)$$

or

$$\phi(x)\Delta\psi(x) + \psi(x+h)\Delta\phi(x)$$

Then,
$$\Delta \{u(x)y(x)\} = u(x+h)Q(x)$$

 $u(x)y(x) = \Delta^{-1}\{u(x+h)Q(x)\}+c$, where c is an arbitrary constant

$$y(x) = \frac{1}{u(x)} \Delta^{-1} \{ u(x+h)Q(x) \} + \frac{c}{u(x)}$$

From (2)
$$u(x+h)P(x) = \Delta u(x)$$

$$u(x+h)P(x) = u(x+h) - u(x)$$

$$u(x) = \{1 - P(x)\}u(x+h)$$

$$\log u(x) = \log\{1 - P(x)\} + \log u(x+h)$$

$$\log u(x+h) - \log u(x) = -\log\{1 - P(x)\}\$$

$$\Delta \log u(x) = \log \left\{ \frac{1}{1 - P(x)} \right\}$$

$$\log u(x) = \Delta^{-1} \log \left\{ \frac{1}{1 - P(x)} \right\}$$

$$u(x) = e^{\Delta^{-1}\log\left\{\frac{1}{1-P(x)}\right\}}$$

Thus, $y(x) = \frac{1}{u(x)} \Delta^{-1} \{ u(x+h)Q(x) \} + \frac{c}{u(x)}$, where c is an arbitrary constant and

u(x) is an integrating factor and is given by

$$u(x) = e^{\Delta^{-1}\log\left\{\frac{1}{1-P(x)}\right\}}.$$

Example 1. Show that $\Delta^{-1}\{f(x)g(x)\}=f(x-h)\Delta^{-1}g(x)-\Delta^{-1}\{\Delta f(x-h)\Delta^{-1}g(x)\}$, where h is step size.

Solution. We know that

$$\Delta\{\phi(x)\psi(x)\} = \phi(x)\Delta\psi(x) + \psi(x+h)\Delta\phi(x)$$

$$\psi(x+h)\Delta\phi(x) = \Delta\{\phi(x)\psi(x)\} - \phi(x)\Delta\psi(x)$$

$$\Delta^{-1}\{\psi(x+h)\Delta\phi(x)\} = \Delta^{-1}\Delta\{\phi(x)\psi(x)\} - \Delta^{-1}\{\phi(x)\Delta\psi(x)\}$$

$$\Delta^{-1}\{\psi(x+h)\Delta\phi(x)\} = \phi(x)\psi(x) - \Delta^{-1}\{\phi(x)\Delta\psi(x)\}\$$

Take
$$\psi(x+h) = f(x)$$
 and $\Delta \phi(x) = g(x)$, then

$$\Delta^{-1}\{f(x)g(x)\} = f(x-h)\Delta^{-1}g(x) - \Delta^{-1}\{\Delta f(x-h)\Delta^{-1}g(x)\}.$$

Example 2. Solve $\Delta y(x) + \frac{h}{x+h} y(x) = x^{(-3)}$, where h is step size.

Solution.
$$\Delta y(x) + \frac{h}{x+h} y(x) = x^{(-3)}$$

Equate with $\Delta y(x) + P(x)y(x) = Q(x)$

Here
$$P(x) = \frac{h}{x+h}$$
 and $Q(x) = x^{(-3)}$

$$u(x) = e^{\Delta^{-1} \log \left\{ \frac{1}{1-P(x)} \right\}}$$

$$= e^{\Delta^{-1} \log \left\{ \frac{1}{1-\frac{h}{x+h}} \right\}}$$

$$= e^{\Delta^{-1} \log \left\{ \frac{x+h}{x} \right\}}$$

$$= e^{\Delta^{-1} \left\{ \log(x+h) - \log x \right\}}$$

$$= e^{\Delta^{-1} \Delta \log x}$$

$$= e^{\log x}$$

$$= x$$

Solution is given by

$$y(x) = \frac{1}{u(x)} \Delta^{-1} \left\{ u(x+h)Q(x) \right\} + \frac{c}{u(x)}, \text{ where } c \text{ is an arbitrary constant}$$

$$= \frac{1}{x} \Delta^{-1} \left\{ (x+h)x^{(-3)} \right\} + \frac{c}{x}$$

$$= \frac{1}{x} \Delta^{-1} \left\{ (x+h) \frac{1}{(x+h)(x+2h)(x+3h)} \right\} + \frac{c}{x}$$

$$= \frac{1}{x} \Delta^{-1} \left\{ \frac{1}{(x+2h)(x+3h)} \right\} + \frac{c}{x}$$

$$= \frac{1}{x} \Delta^{-1} (x+h)^{(-2)} + \frac{c}{x}$$

$$= \frac{1}{x} \left\{ \frac{(x+h)^{(-1)}}{-h} \right\} + \frac{c}{x}$$

$$= -\frac{1}{hx(x+2h)} + \frac{c}{x}$$

$$= \frac{c}{x} - \frac{1}{hx(x+2h)}.$$

Example 3. Solve
$$\Delta y(x) + \left(1 - a^{-h} \frac{x - h}{x + h}\right) y(x) = \frac{1}{(x + h)^{(2)}}$$
, where h is step size. Solution. $\Delta y(x) + \left(1 - a^{-h} \frac{x - h}{x + h}\right) y(x) = \frac{1}{(x + h)^{(2)}}$ Equate with $\Delta y(x) + P(x)y(x) = Q(x)$ Here $P(x) = \left(1 - a^{-h} \frac{x - h}{x + h}\right)$ and $Q(x) = \frac{1}{(x + h)^{(2)}}$ $u(x) = e^{\Delta^{-1} \log\left\{\frac{1}{1 - P(x)}\right\}}$

$$= e^{\Delta^{-1}\log\left\{\frac{1}{1-\left(1-a^{-h}\frac{x-h}{x+h}\right)}\right\}}$$

$$= e^{\Delta^{-1}\log\left\{\frac{1}{1-1+a^{-h}\frac{x-h}{x+h}}\right\}}$$

$$= e^{\Delta^{-1}\log\left\{\frac{a^{h}(x+h)}{(x-h)}\right\}}$$

$$= e^{\Delta^{-1}\left\{\log a^{h}(x+h) - \log(x-h)\right\}}$$

$$= e^{\Delta^{-1}\left\{h\log a + \log(x+h) - \log(x-h)\right\}}$$

$$= e^{\Delta^{-1}\left\{h\log a + \log(x+h) - \log x + \log x - \log(x-h)\right\}}$$

$$= e^{\Delta^{-1}\left\{h\log a + \Delta\log x + \Delta\log(x-h)\right\}}$$

$$= e^{\Delta^{-1}\left\{h\log a + \Delta\log x + \Delta\log x - h\right\}}$$

$$= e^{\Delta^{-1}\left\{h\log a + \Delta\log x + \Delta\log x - h\right\}}$$

$$= e^{\Delta^{-1}\left\{h\log a + \Delta\log x + \Delta\log x + \Delta\log x - h\right\}}$$

$$= e^{\Delta^{-1}\left\{h\log a + \Delta\log x + \Delta\log x + \Delta\log x + d\log x +$$

Solution is given by

$$y(x) = \frac{1}{u(x)} \Delta^{-1} \left\{ u(x+h)Q(x) \right\} + \frac{c}{u(x)}, \text{ where } c \text{ is an arbitrary constant}$$

$$= \frac{1}{a^{x} x^{(2)}} \Delta^{-1} \left\{ a^{x+h} (x+h)^{(2)} \frac{1}{(x+h)^{(2)}} \right\} + \frac{c}{a^{x} x^{(2)}}$$

$$= \frac{1}{a^{x} x^{(2)}} \Delta^{-1} \left\{ a^{x+h} \right\} + \frac{c}{a^{x} x^{(2)}}$$

$$= \frac{1}{a^{x} x^{(2)}} \frac{a^{x+h}}{(a^{h}-1)} + \frac{c}{a^{x} x^{(2)}}$$

$$= \frac{1}{x^{(2)}} \frac{a^{h}}{(a^{h}-1)} + \frac{c}{a^{x} x^{(2)}}.$$

References

- [1] Sandeep Maurya, Numerical Integration by Series Solution, International Journal of Mathematics Research, ISSN 0976-5840 Volume 4, Number 5 (2012), pp. 605-612.
- [2] Sandeep Maurya, Sandeep Integral Transform with Applications, Advances in Computational Sciences and Technology, ISSN 0973-6107 Volume 6, Number 1 (2013) pp. 69-79.